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Tae % fery fw
Instructions to the eandidate. 1

1. el qure ot vt W avw )

Candidates are required to give théir answers in their twn words as far as
practicabie.

2. et o wfve ww Rl gu o uuie e @ )
Figures in the right hand margin indicate full marks.
3. Wt W sifard ¥
All questions are compulsory,
4. FOT IR WA ultemel aurisE weE-de s s T

While ansu,:ering the candidate should adhere to the word limit as far as

f practicable,

5. IH AFOE W U F v 15 fime w5 afifee W fean o

-

15 minutes of extra time have been allotted for the candidates to read the

questions.

Previous Pathshala




SEIEN{;E

2

q9-a
GROUP . 4
- (3= :6p)
e . !Marka:ﬁt:]

Instructions ;

Sl Eﬂde:

;Wmﬁﬂﬁﬂ?ﬁﬁﬂﬁmﬁmﬁﬁi
NSWEr in one word or in one sentence the '

2 F A A S I oM Py s duestions of 1 mark. |

i 50 Y= 1, 3 3w am sy 2 =l A
n L [ I. T -$. *

immm%aﬂtmﬂmlsuwﬁ&u R
nsw?r in about 50 words the questions of 2 marks, answer in about 75 words the

questions of 3 marks and answer in about 150 words the questions of 5 marks.

ﬁﬂ?ﬁi@wﬁﬁﬂ?aﬁﬁmaﬂ%ﬂﬁqﬁfﬁﬁﬁ?ﬂ%?

Which colour of light is deviated most ? t
3™ % Frm o g ae Feas ey o 1
In Ohm's law which value remains constant 2

T T A O 4 B HE HE a0 £ 2

Which works as positive terminal in simple cell ?
3T T8 F AR A Tl 7@ T A T A R $ A ? 1

To ge1 the image equal to the size of object where should an object be placed before
convex lens ?

HTERTRT 1 17 Aiert g w1 & SRom E 7 \
Which event is responsible for the blue colour of sky ?

WS T €7 §EE e A | 2
What is refraction of light ? Definc its law.

fer umn T & 7 S WG UE A (e 2
What is ¢lectric current ? Write 1ts equation and unit,

w1 &1 &l fasam w0 & 2 afe we w) - 3
What is dispersion of light ? Describe it with diagram.

e i v e um A S W w1 3
Differentiale between alternating and direct current.

ez T ( 1) 1 BT TR B
10 1
1A 15}"\/1’{19

5V 5v 5V
Il= J'}-——h“--"”"—'
30 30 30
Yl
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SCIENCE
Iem@ v ¥ R = of fog w1

Find the electric current [ 1} in the following circuit

Prove R = 2§ in a concave mirror.

2 e % aee 3o R weR @) iR e R TR R e R 2

! 1
What 1ype of reaction 1akes place in the digestion of feod in our body ?

127w i 3 wiem % i e 2 |
What is the colour of Ma in the flame test 2
13 - TR & IO T SR § R A5 U 3T o A ferd o 1
Write down the name of a non-metal which is found-in liquid state at room
lemperature.
Jac TR f uw W g e ¥ 7 BT

Bauxite is the chicf ore of which metal ?
57 CaOCl, W 1 WS /8 &49] &7 1
What is the commeon name of Ca0OCl,; compound ?
16, sfufn av Rt aw ﬁﬂmmmmmﬁmmmﬁqﬁ'
FE 2

2
Aluminium is a highly reactive metal, yet it is used to make utensils, Why ?
17. GHEEEd] R FEd B 7 O SO )

What iz isomerism 7 Give an cxample.

2

A% WA T SHEE T TR a0 ) 3
Differentiate between soap and detergent.

19, =T WFET o ) fa Td i ey 3
Write the method of preparation of bleaching powder and its uses.

20, TIEE avw = FrefeiEa & oo 6 gl st = eels oo e s
) Afzmy @ vitemn wEEz (@ Wi amEweEe

T

wen & UF W@ v o A o P T TR T eve 6 e b )

Wrile down the chemical equation of ethanoic acid with (a) sodium (b} sodium
ciarthonate (o) sodium bicarbonate,

OR
Mame an imporiant ore of iron with formula. How is this ore concentrated 7

| Turn over
Previous Pathshala




SCIENCE

21, T ) AET AT FTE ?

What is the respiratory oTgan of ish ?
22, ﬁmﬁgﬁﬁ—mﬁmﬁ ?

What is the function of kidney in man ?
23, ﬁﬂ-ﬁlmmmﬁmwémm% ?
Which chemical is responsible for depletion of ozone [ayer ?
ﬁzﬁﬁmﬂmﬁﬂmﬁﬁmwfamm ?
r his experiment ?

aipd ¥

24,

Mendel selected which plant fo
25~ vl 3 2 e e e T € 2
_ Tanin is stored in which part of the plant ?
26. e 3 FATH H 7 3i ferd )
Write two differences between xylem and phloem.
27. i 67 8 ! & a FA 62
What are the functions of producers in an ecosystem 7
i fpar &1 dt & g SR HEe g ? 3
What is the importance of transpiration in plants [
s e od STt A H FR (T ‘ 3
Write the differences between Unaerobic and a¢robic respirations.
5

30, qﬁaﬂqmmﬁaawavha%
Describe kidney with a well labelled diagram.
' 19 -B
. GROUP - B
BiharPaper.com .
(3% : 20 .}

{ Marks : 20|

FgAFedE A
Multiple Choice Questions
Tlﬁﬁ 20 x 1 =20

gmg : 30 foRe
Time : 30 minules Full Marks : 20 x 1 = 20

arar faer

General Instructions :
G SeEE WA T 3 1 Bl

Fach guestion carrics one mark.

ﬁqnﬁmﬂﬁaﬁ%ﬁwaﬁﬁﬁﬁaﬁmaﬂ&{wmm#ww,

Write down the correct choice with question number from the given four options

{ii)
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51, Code : 5

31, Fretfefad faee 4 @ @ faeed 7 :
Choose the correct alternative [rom the given four options

(i) Frqwmé;mmwﬁtmﬁhqﬁwnﬁmmm
al T S (b FEd FH
ic) EQTIﬂW i) 4'Iﬂ'ﬂml

In short-circuit, the value of electric currcnt in a circuil becomes

fa) very high (b very low
ic} 3 A dl 4 A
(i) CeETel & GUEER % fead FEHE 7
(a) 1 A 2
e 3 (d) 4.
How many laws of reflection of light are there ?
(a) 1 (b 2
fe) 3 (dl 4.
i) ferdt E@ew szuvmznzﬁrmﬂwﬁﬁiﬂﬁmmmﬁmmwam
" {a) S50 bl 1100
fo) 2200 (d} 440%:
The current of 2 Aat 220 V is flowing through an clectric bulb. The resistance
of filament will be ;
fa) S50 () 1100
] 2200 d) 440 9.
(iv) ot T & STqERAE @1 H I €
- sini (b) sinr
sinr sind
fc) sinixsinr {d) sini +sinr,
The value of refractive index of a medium 15
sini b sinr
@ Siar (b} sini
{d) sini + sinr.

{c) sinixsnr

(v) 1 kWhTo S

H\{a} 1600 J T AAbF 3.6x10° J I

{el) 3600 J FI1

) 36x10° JF

| kWh is equal to

(a) 3600 b 3-6%10%J
) 36x10°J ) 3600
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i) W T g s o 2 "

(€} ta) ®R (b) T (@ AW
The image formed by plane mirror is
(a) real () virtual
(e}  both [a) and (b) (d) none of these,
(v} TEVERTR @ S| OAES A R
(@) o by T
o) O (@ e
The S1 unit of potential difference 1s
fa] watl (b}  amperc
(€ wolt )~ Ohm.

(vizi) HifeaT FERE o 9 A &

(a) NaxCOszw« {bY . NaHCO;

,.» c) NayCOg {d) NaCl.
Molecular formula of sedium carbonale is
(a) MNayCO3 (b} NaHCO4
(@dy  NaCl.

(c) Na,COq
i) aﬁﬁﬂﬁﬁﬁﬁ@fﬂﬁ%@m%

~ COOH &
Aal - CHO & .Ab) C

&) - COClpFRi!

() = CcO R
.« indicated b
Carbonyl group 15 indicated by 6 - COOH
el -~
; ?
arzer aremeel & 3L el
{x) g L oH _(b) CEHF.DH
(@) Cs CoH,0H
(d) 2hi2
OH
{c) CoHe Lis
. of ethyl alcohol 1
Molecular formula O (b} CoHs0OH
(a) CH 3UH (@) CEHZDH .

(c) CEH [,D H
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xi) =10 9 Fi9 s G € 2

fa} CH4 b}  COg
() CaCly (d)  NHj.
Which is ionic compound ?
fa] CH, (b L0
{C] CEI.C].E {d:l MNH 3.

[xii) 3Tl WOT & Y8 OF o

= fa) H {b} He
fc) COq {d) Cly
The element of zero group in the periodic table is
fa) H (k) He
{E] C'C-'g t.d] CIE.

(i) ﬁwﬁhﬁmmaﬁﬂﬁﬁ% ?
{a) 2 by 4
ic) 6 id) 8.
How many covalent bonds are present in methane 2
a) 2 {B) 4
c & (d) 8.

(xiv) FI=T 8 & = seeRE £ 2
(a) Hs o _-b) CO

,,I':} D'E g [d.] HES_

Which of the following is reducing agent ?
{a): Hy b} CO
e} Oy [d)  Hs,S.

(xv) TUET Hehed o6 WA & e o ST ¢ )

o) TR by IETER

(c) (a) 3R (b) TFI d) W wE

Ethyl alcohol is formed in which type of respiration 2
{a} Aerobic

(k) Anacrobic
{c] Both (a) and (b

(d) MNone of these,

Oovi) e ST SR e v B &

(a) Anz (b) ey
Jo) - ik @ TR
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Asexual reproduction oceurs through budding in

S1. Code : [1011 ]

(2] Yeast (b)  Plasmodium

(c} Amocba {d)  none of thesc.
xvii) S G 0§ AT &

() weifwa A ()  UFAfERay |

(c) 3mEAIfEEE A (dy IR A

Ozone layer is found in

(a) Stratospherc (L) Exospherc

(c) lonosphere’ () Troposphere
Ceviii) GO H GRS 6

~fa) FEAYA by T

(¢ R (d) 38 | &IT I

In anther ..o ..o Y is found :

fa) Calyx {b] Pollen grains

e} Stigma {d] nonc of these.

(xix) TENEIT YT eIl 99 §

(xx)

(a) T T Bl H )

(o] TR HHF (d)

Goitre discase is caused by

(a) lack of sugar (b
(d)

[cj lack of blood

“The Origin of Species’ AT TP o

ol

(b)
(d]

B

{c) ??mrﬁ

Who wrote the book ‘The Origin of Species’ ?

o i e i
oreTm 91

lack of odine
[alness,

forat 7

..
=78 W H1E el

{a} Darwin () Opernn
(c) Lamarck (d) None of them.
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